


Notes on Chapter 10



Investment Decision Rules
Return on Capital: In Figure 10.1, p. 287,  the salvage value of the capital is 800,000. The return on capital calculated from this salvage will be 33.33%. If the salvage value of the capital is 0, the return on capital will be much smaller. Does it sound right intuitively? 
Figure 10.3, p. 290, If BV of equity is depreciated as 600, 400, 200 and 30 over 4 years, the return on equity would be much higher. However, the left over equity plus total earning of the 4 years will be much smaller. 
Exercises

1. Calculate the return on equity from Figure 10.1, p. 287, assuming the salvage value of the capital to be 0. Compared with the result from textbook, which return on capital is higher? Intuitively, which investment is better? 
2. From Figure 10.3, if BV of equity is depreciated as 600, 400, 200 and 30 over 4 years, what is the return on equity of the 4 years? Compared with the result from textbook, which return on capital is higher? Intuitively, which investment is better? 

NPV

Definition

Decision rule

CC 10.2 Discussion

Work out In Practice 10.6. 

Properties of NPV: 

1. Additive

2. Intermediate cash flows are invested at the hurdle rate. 

IRR

Decision rule

In Practice 10.10, FCFF (Free Cash Flows to the Firm)

In Practice 10.11. FCFE (Free Cash Flows to Equity)

Popularity of IRR

Problem: Small projects with high IRR, low NPV. Large projects with low IRR, high NPV.

Warren Buffet doesn’t invest on projects below 500 million dollars.  
Problems: Multiple IRR. In Practice 10.12.


      No IRR for projects without negative cash flows. Theoretically it is impossible. There must be hidden costs. In practice, rarely occurs. 

Comparing investment decision rules

NPV and IRR: difference in scales

In Practice 10. 13

Figure 10.11

CC 10.4: Why it is more reasonable to assume, as the NPV rule does, that the intermediate cash flows are reinvested at the cost of equity or capital than the internal rate of return? 

CT 10. 3

What approaches do firms use in investment analysis? 

Exercises:

10.7, 10.13, 10.15. 

